N of reco track vs pT

[N of associated (recoToSim) tracks vs pT

N of associated (recoToSim) duplicate tracks vs pT

g 2 F 2 F g
g 8 ol g I g
£10° £10°F = s
E s F e o
i =W | g 8
10* 5
E 3
10° E
10°F
10% E
10
10
1 3
o o [} o
T 4 | 3 3
24 @ 24 @
2 FRRER S 1 (el AR kbl i :
10t 1 10 101 1 10 2 ? 10 2 ? 10t 1 10 2 2
trag‘lg P, (Ge\;’)0 traélg P, (Ge\}P trag‘lg P, (Ge\;')0 traél? P, (Ge\}f)
— \Y/ (21}
— 35 EI@I%@%%%@%@E%%M&? ﬁ%@fvﬁgﬁ‘ 'ﬂ%@%@%gsmﬂtest h
2 ¢ F
8 § 8
s g e
£ 8 g
3
3
j=]
o o o
3 3 3
@ 14 @
2 2 2
8 g g
£ 8 8
. I3
. . PR— =]
T S A 3
TR R S|
R
[y ¥ e m’;-t;;*o e ‘ﬂ’f".oo?
10° s ;
o o o
3 3 3
@ 24 @




	Contents
	Page 1


